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11.

12.

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

d’y dy

If y=-x3log that x—=-2=243x2=0.
y=-x wm.x prove tha =2 x
: 2
"y=-x%logx el a..&|,.W| @.._.,wamuo eraur
. - dx dx

Blemi9.

Find the n'™® derivative of x2e®*.

x2e® arenLigen n -en euanasAEpaous STas.

HwNuRN+QNv.&u%.QnH+% find m
2, .2 . _ .3 2 . dz .
Z=x"+y° x=t°, y=1+t Q%%Mm:@ﬂ&.

Find the radius of curvature at the point ‘@’ on the
curve x = a(cosé +6sinf), y=a(sinf - Hcosb).

x=a(cosd+0sinf); y=a(sinf-Hcosh) )]

cflenareuanys@ 6 eremp Lerafullwe @by eueneteuanys
STETS.

I Bse vaths - Dilosensial  Cobeados -

Show that in the curve r=e’*® “the polar
subnormal is rcote.

Qwooah

r= eenp  euemereuaruler . Gimeu  gienewT

Qem@sgl reota erean Hmeys.

Find a:) and @ for the cardioid r =a (1 + cos8).
dé dr

- A . e BT
r=a(l+cosf) erenip smigwmii@-efen Jg opoid
ds .
— - ETERTS.
dr

. . x? 5
Find all the asymptotes of Py =1.
a

PV
.A.u|m VT 1 & Simanggl 2iamGCsTHEMET LD STeRTs.

Prove that the asymptotes of the curve
(2 - y*)y-2ay* +5x-7=0 form a triangle of
area a®.

(x* —y")y-2ay* +5x-T=0 eremp euenareuenyuien
A ECaETHsT a’ uLiLeTe|eTer 5 (WECarasms
2 (HeUNGELD e fFlmieys.
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13.

14.

15.

16.

17.

Find the envelope of the family of the curves
(x-a)®+y? =4a where a isa parameter.

x-a)’+y’=da, a gm SIGTEY(T), CTEND SUGHETELGH]
SOwusHen 2 mnaws SreETs.

Find the P-r oacm&ob of the parabola

ol =1-cosé with respect to the focus as pole.

r

2a A P S
—=1-cosd eremp upeumarwisHen P-r swerum_enL
= _ .

8IBeuGL @ @LWILTS, aatugmer QUITHSS! STams.

Find the angle between the radius vector and the
tangent at any point on the conic section

=1+ecosd.

N e

—=1+ecosf eremp g&&@@FﬁE% B TOeUSL (HEELD
- ,

QarECamighH@Eb. e i L Garemsens
geralznm Lstellé@ srars. R

Find the slope of the curve r =asin24 at 8= M

lm.uo.awn,
7 i)

aueareuenyuden smieneus sar(iy. -

emefluded r =asin26 )
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PART B — (6 x 5 = 25 marks)
Answer any FIVE questions.

If RHQQlEbSQHQQ%oOm.& find

function of ¢.

x=a(t-sint) y=a(l+cost) eafles ——-g ¢-air
&riuns seamHidy.

Ifv=f mm, 2 | show that x.m|c+.<@+u.@u.o.
2 T ox & o=

V=flZ 2| aafer 8@+%@.+mw~nuo arar FlemLal.
2’ 2 ox . " oy 0z
Find ‘the maxima and minima of the function
2x° -3x® -36x+10.
22° -3x° -36x+10 erémp srmGen BUGUEH wHMD
B&Am whHliysmens snawms.
Find the envelope of the straight line M+Wu 1

’ ' a
when ab = c? where ¢ is a constant.
N+WHH ; ab=c? ; ¢ gm LA eramp (-3
Q g
2 MDENIG STCHTS.
What is the radius of curvature of the curve
x* +y* =2 at the point (1, 1)?
' +y*=2 eep aumareeyler DY TeIMETERE

1, 1) erénp yerefluded eramen CTETLIENG HTeHTS?
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19.

20.

21.

Show . that the rectangular - r%uouco_mm
r?sin26=a? r’cos26=>b> intersect ~ at right
angles. .

r’sin20=a% r’cos26=0* aarp . Gaeueus
SIFugaueneTLIEI ST QeniGareamsH Qeuig &
Qarerflemper erew Flmiays. :

Show -that eight point of the intersection of the
curve x*-5xy’ +4y* +x*=y* +x+y+1=0and
its asymptotes lie on a rectangular hyperbola.

xt—5x%y 44y  + 2%~y  Fx+y+1=0 eTémD

auemarauampLb gt @IGCETHSEED OQailigs

Qamemepd oL@ ydtefis@sd @@  Qesueus

- ifuraumanugglen Bg) sienwbgemen arar Hlpieys.

PART O — (3 x 10 = 30 marks)
“Answer any THREE questions.

If  y=acos(ogx)+bsin(log x) prove  that

%Yz +@n+ D2y, +(0* +1)y, =0
y = acos(log x) + bsin(log x)- . erafled
Rwo\=+n + AN:\ + Hv&...vft + A;m + Hvu‘a =0 ﬂ_.aq_.%@_ln:

Show that the maximum value of x2yZz? subject

to the constraint x® + y% + 2% =a? is ﬁ.nﬂw :

x*+y*+22 =6 aeanp Pupseedeull x’ylz?
2\8 N "

erenuifler BOGUH Ly ﬁnﬂw eram Flmiai|s.
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22.

23.

24,

Show that the evolute of the parabola y* =4ax is
27ay® = 4(x - 2a)®.

y =4ax @y Upauemeruser  ereudyl

-

27ay? = 4(x— 2a)® een figays.

Prove that the curves r?=a%cos26 and
e 1

r=a(l+cosb) mbamamm,oew mﬁ an angle 3 m»ulﬂhmw_ X

| | wneﬁ+8m$v )

.P . .
3 WE-A& qap  Caremsdd
Qeuln&QameaTdng) eran Himes. | .

r =a%cos20  wpmwd

GUGNETELEN TEET

Determine the mm%Bveoem.m of the curve
4(x* +y*)-17x%y% —4x(@y? - x¥) +2(x? -2) =0
and show that they pass through the points of
intersection -of the curve with the ellipse
x*+4y’ =4, .

4(x* + y*)=17x%y% — 4x(4y> —x)+2(x2-2)=0
eramp  euenereuanFuilen EGCETREMmaTE QsTaRr(
Cugib SECanRaeT aamaammyb x°+4y% =4
eremm Bereul L pib Qan iy s@sman@sid yerell auflunss
Qeagiflanpg) crar Hlpiays.
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